= Lncesteza AV /
F, S i ey S e | e g
Je = V0.9 « (0,5 = 0e= VO ST = gp g:"*g“&)/ o

e ol . “;!M;‘.
e, 870

+~0Ualculo 44 nceyTea o

Jp= O,0046 g (m} 4

CA eXlevirmentAl velar e
™

G B UL Ol o R SN
3 A i

- VAloY vwas g:;;‘%"’i;:ﬁ\féi *{,_\; M GYRNAQE A

e

BT e Heeht &
4 3 = b 4 o 5 i ¢ TR £ ’ S,
’li"‘ jwwi e q‘”“:i:t{“*b o *"fm‘", % ot ¥ ;'”‘H’; 3 Y ii: 4 ey %”‘ & =
=% &J * 0O, 6 DR o N
e e Lot = ) = Hﬂ s
S s
R ;M‘e Sy ey
E‘s,n:} & SN L iri‘xﬁmﬁi i’-‘}if"! k3
£ % - e
: A 1 : P T i T e bt X3V L fir G ie g 1€ 4 AL 34,
{"‘;pv‘ Pt { ,i S{; {”“ -::“ # ..%4 Y 4 “*4‘} 5 j&:“d W;gw_ = §<° 3 b 4 =y N (i e s ( el . } wg‘
Tt Rt T a e




